Karta wzorow — kolokwium 2

Filtracja fourierowska
e - H (m,)e"™, cos(at) > Re{H (a,)e™ | = A(a, )cos(ampt + ()

sin(a,t) —> Im{H (a)o)ej“"’t} = A(a,)sin(apt +9(a,)), A(®) :‘H ()

, p(w)=argH ()
H(@)=H(s),_, h(t)oH(s), h(t)oH (o)
Pasmo 3-decybelowe: A(@yy)= A /N2

Prébkowanie

X, (@) :TiZX (0—na,)

Filtracja cyfrowa

" > H (Q,)e"™", cos(Qn) — Re{H (Qo)ejg°”} = A(Q, )cos(Qn+9(©,))

sin(©Qgn) —> IM{H ()&’ } = A(Q, )sin (Qun+ (), A(Q)=|H ()

, p(Q)=argH (")

FD .
h[n]é H(z), h[n]«<>H (e‘Q), Q - pulsacja unormowana [rad]

H(e*)=H(2)
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